414403 B 078 (BER)

R RENFEHIS (A15) 2B B #H

B EEHME: 2332 kv
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
A H Y5 x| Hiike | SEME) | fHEME) | REME) | SEME) [ #EE) [ RiEE)
130100 |[7ZLNC A # 17,315
FIE 2,660 900 1,760 10 1,080 1,458
£E 400 0 400 10 1,296 756
®me 4,900 1,360 3,540 10 1,512 1,080 1,404 648
G 5,760 1,500 4,260 12 1, 404 1,296 1,404 864
130340 [7¥ICALCA a3 19,940
£E 230 0 230 10 1,782
RI& 8,620 40 8,580 10 1, 404 1,512 540
REAR 4,680 0 4,680 10 1,318 1,166
BRE 5,900 0 5,900 10 1,350 810
130400 (1% % 1,530
&5 1,470 10 1,460 10 2. 160 2,160 324
130600 |[LA A % 1,180
®me 1,180 0 1,180 5 - - - 5724 1,512
131100 [ 3¢ ¥ 26,157
E351 8,025 4,740 3,285 15 756 702 972 648
£E 4,449 30 4,419 15 1,296 1,296 972
EIEIT 1,263 743 520 13 886 1,534 1,080
i Ll 1,170 0 1,170 15 1,080 864
Ei5g 11,250 3,210 8,040 15 1,188 156 1,080 648
131700 |Fv Y % 42,859
250 26,230 4,470 21,760 10 1, 404 810 1,404 713
£E 15,129 3,741 11,388 10 680 1,188 648
FIEIT 1,500 1,000 500 10 1,134 1,134
131800 |[[(F5hAE % 4,638
EE 893 644 249 0.2 92 63 80 78
EE 800 8 792 4 2,808 3,240 1,080
=i 2,790 0 2,790 45 2,700 2,160
131910 [FH=F % 2,161
N 28 0 28 0.5 702 302
£E 80 5 75| 05 302 302 270
i L 245 0 245 1 1,296 432
0 1,103 0 1,103 10 3,132 2,430
iR 565 80 485 5 4,320 3. 780 4,860 1,080
131950 |4 % 4,041




414403 B 078 (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEfAsE: 2332 bv
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
B 1,500 192 1,308 3 1,512 1,296 1,620 756
133400 [L B R a3 15,405
R 1,725 45 1,680 45 1,944 1,404
EE 6,990 6,080 910 10 3. 024 1,296 3,240 1,620
32 2,450 420 2,030 10 2,484 1,944 3,240 1,944
KI5 4,240 3,140 1,100 10 1,404 1,566 1,404
134100 | A/ % 16,905
E351 1,070 0 1,070 5 1,458 1,134
32 3,640 830 2,810 5 1,728 1,458 2,160 1,188
iR 225 60 165 5 1,512 1,350 1,674 1,296
=40 1,370 1,170 200 5 1,944 1,512 1,534 1,512
=I5 9,630 2,710 6,920 5 1,782 1,372 2,160 1,188
134200 |F I % 2,640
—2—-U—5uK 2,640 20 2,620 10 1,512 1,512 1,350
134300 | %t F % 5,493
mE 824 140 684 2 1,188 1,080 1,188 540
=40 3,381 1,340 2041 0.3 140 124 140 124
= 848 47 801 0.3 162 167 140
REAR 240 0 240 8 3,024
134400 [r<k g 8,055
& 2,123 0 2,123 4 1,512 1,080
i 5,902 144 5,758 [ 1, 620 1,296 1,620 648
134500 [E—< > ¥ 7,232
=t 991 100 891] 0.15 97 119 86
= 15 6,216 1,160 5056 0.13 107 92 97 86
135100 [LNAVIF A 3 390
=40 50 6 44 2 3. 456 5,400 2,700
BRE 20 0 20 2 4.644
135200 | 3= % 194
=50 40 2 38 2 3,348 3,510 3,294
3Rl 154 4 150 2 Z. 160 3,672 1,404
135300 [E—X a3 729
A 220 70 150 2 2,376 1,620 2,700 1,080
BERE 357 172 185 ] 1,220 1,620 994
136100 [MAL & ¥ 28,495
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414403 B 078 (BER)

R RENFEHIS (A15) 2B B #H

Frx ESEfAZE: 2332
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
FIE 385 0 385 5 2,214 1,337
BE 3,595 340 3,255 5 2. 268 1,944 2,819 918
N 7,740 0 7,740 5 1,944 864
136200 [ E#5Z 3 5,330
dtiEE 200 0 200 10 2,786
BRE 5,130 0 5,130 10 - - - 3,780 2,030
136210 | A—9 4> % 10,270
dtiEE 10,270 490 9,780 10 3. 132 1.512 3,024 950
136300 [ B ¥ % 1,900
BIE 1,800 170 1,630 10 3.240 2, 484 3,564 1512
fE 100 0 100 10 1,728
136600 [f=F4=E 3 5,400
dtiEE 5,200 5,100 100 20 4,633
EE 100 100 0 10 3,780
KE 100 0 100 10 3,888
138100 [ LU =1F 3 2,892
£E 145 35 110 0.1 140 97 119 76
mE 1,806 30 1,776 0.2 2217 270 86
138500 |LHLE % 2,013
R 2,010 302 1,708] 0.2 16 55 79 65
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414403 B 078 (BER)

R RENFEHIS (A15) 2B B #H

= ENFEHAE 848 kL
(gL HEREFEST)
fnfh fnfh EEh ENFE = (ke) AR b tExIER 5|
A H Y5 axt Hfike) | 2MEEA) | ®EEA) | REM) | SEME) | £EME) | R{EME)

240700 | @R M A A ‘f‘* 5,249

FFrL 729 0 729 10 4,104 1,404

32 4,520 2,392 2,128 10 4, 860 1,512 4,320 1,080
241200 |[~r—T LA LD 3 150

IR 150 0 150 2.5 - - - 3,240 3,024
241260 |HE A M A a3 5,040

IR 5,040 0 5,040 10 - - - 1,296 1,080
241300 [{FF 3 12,790

IR 12,790 9,440 3,350 10 3. 348 972 3,780 864
241320 | /\¥H a3 2,690

L5 2,690 2,690 0 10 3. 024 Z 160
241450 |;BR 3 2,090

3Rl 200 200 0 10 4,007 3. 672

iR 1,890 0 1,890 10 2,700
241481 [T a7k ¥ 4,940

=l 2,815 1,590 1,205 5 1,944 1,080 1,944 1,404

IR 250 20 230 5 3,240 2,700 2,160
242320 [3F3—ILK 3 50

&7 50 50 0 10 3. 024
242830 | SLYA T i 22,702

RS 22,702 8,988 13,714 10 4, 860 3, 456 4536 1,080
242850 | YA a3 7,438

L 7,438 3,056 4,382 10 5. 076 3. 024 4,860 2,160
246000 |LN6 T a3 21,432

£E 51 10 41 025 670 1,080

=l 1,214 630 586] 0.3 594 410 594 410

12w 3,242 1,221 2,022 o027 497 248 540 216

&= 1,214 1,214 of o024 275

& 6,314 857 5457 025 335 227 346 194

At 8,564 5272 3292] 0.25 346 238 346 238

= % 833 69 765 0.27 302 270 324 270
247100 |[7—JLR A a3 230

E4 il 230 51 179 8.5 16, 200 14, 040 16,200 7,560




